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PAGE, LINE | READS | SHOULD READ
p. 6, Problem 6, (B3') square integrable. have variance 1.
p. 12, 1. 11 above N(0,t — s) N(O, (t — s)1q)
p. 14,1.4,1. 6 above BM? BM!

p. 15, (2.16), 1. 12 above

g (Un21 U0§t1<...<t”<oo U(X(tj)a e ,X(tn)))

o <Un21 U0§t1<...<t"<oo U(X(tl)v e ’X(tn)))

p. 15,1. 15 above

(X(s1), -, X(sn) LY (t1), - .-, Y(Em))

(X(s1)y.ey, X(8m))LL(Y (t1), ..., Y (tn))

p- 18, 1. 7 above

e~ 3 I5TE7 = o5 (6257¢)

e 3tIZTE® — o—3t(£3ETE)

p. 33, (3.6), 1. 10 below

W (t,w) == 300, 20 ¢ (w)

W (t,w) = tGo(w) + V2300, Sl @ ()

nim

p- 33, 1. 4 below

Wy (t,w) = Y0 220 G ()

Wi (t,w) := tGo(w) + V230, 2l G (w)

nm

p.- 39, Problem 5, 1. 3
above

In this case, the reverse implications hold, too.

Do the reverse implications hold, too?

p. 39, Problem 6, 1. 5 || (B,)qcq (Bq)quﬂ[om)

above

p. 41, 1. 11 below (v, w) — v

p. 42, 1. 2 above w i p(B(-,w),w) wr p(B(,w),v)

p. 49, 1. 7 below es €l et lsP

p. 49, 1. 4 below ME(t) = eCBOI-§ P ME(t) == exp (zjzl(ngj () — 1 j?))

p. 53, 1. 2 below {ry <t} € ZX and {7, <t} e F7 {ry <t} € ZX and {7, <t} e F7
forallt > 0,

p- 54,1. 5 above Ug+sr<t Uq+sr<t

p. 54,1. 9 above re (0,t]NQ re (0,t)NQ

p. 54,1. 10 above (W) <r<t p(w) <r<t

p. 60, Problem 9 a?/2+b>0 a?/2+b=0

p. 60, Problem 11 (c) TShe = max{rq, 75}, TSno = max{rq, 75},

Tanc = max{7a,7c}

TANC = maX{TA,Tc}

66, 1. 10 above

BD/S.1)

(B1)/5.1b)

68, 1. 4 below

and so

and so, forall b > 0,

.72, 1. 8 below

wr B(-AT(w),w) — B(1(w),w)

w = B(-+7(w),w) — B(T(w),w)

.72, 1. 6 below

B(-AT)—=B(r) ~—=B(-AT) — B(T)

B(-+ 1)~ B(r) ~—B(+7) + B(r)

.74, 1. 8 above

Tgo,r) < xr,r < 1g(o,R)

Xr.RIB(0,R)\B(0,r) = 1 and X, r|B(0,r/2) =0

Sslelelele ===

.75, 1. 10 above (6.14) (6.17)

. 82, 1. 10 below Z8 =1{0,0} FB ca(N)

. 83, 1. 4 below Let (B;); a BM! Let (B;); a BM¢
p. 85, Problem 3, 1. 5 || a o-algebra a Dynkin system

above

p. 85, Problem 4

u(z) = up(z) T2

u(z) =up(z) >

p. 88, 1. 14 above

lim,,,u(B: + =) = u(B, + y) and

lim |00 u(B + ) = 0.

lim, ,, Bu(B; + z) = Eu(B; + y) and

lim| ;|0 Eu(B; + x) = 0.

p- 88, 1. 7 above

P?(X; € RY)

P*(B; € R%)

p- 89, 1. 3 above

ly| > 2

lyl > 2R

continues on next page



PAGE, LINE | READS | SHOULD READ
p. 90, 1. 5 below ﬂ;"zo...; s0=0<81<... ﬂ;":l 0<s1<...
p. 93, 1. 3 above Ou(x) 0% u(x + 0B;) dju(x) 0;0ku(x + 0B;)
p. 95, 1. 2 above Byp(R™) Bp(R?)
p. 95, 1. 7 below This proves (7.11c) and (7.11b) follows now from | This proves (7.11c) and (7.11b).
part a).
p- 96, 1. 11 above Py (three times) Pi_sin (three times)
p. 97, 1. 5 above al, is conservative: al, is conservative whenever P; is conservative:

p. 98, 1. 10/11 above

Because of f)

Let o, 8 > 0 and uw € By. Using the definition of
U, and Fubini’s theorem we see that

UsUpgu(z)

= [ [ e e PP, Pou(x) dsdt

= [ [ e B3t P, Pu(x) dt ds

Thus, by part f),

Uau — Ugu

= (Bid—A)UsUsu — (aid —A)U,Usu
= (8 — a)UgU,u.

p. 98, 1. 3 below (id —aUq)u(x) (id —aUq)Uqu(z)

p- 98, L. 2 below n! (id —aUy)u(x) n! (id —aUy ) U u(x)

p. 99, (7.15) 1. 8 above || e~ V2v e~ V2alyl

p.- 99, 1. 9 above ﬁ ﬁ

p- 99, 1. 9 above V2ay V2aly|

p- 100, 1. 7 above ifd>1 ifd> 2

p. 100, 1. 10 above (A, D(2A)) extends (2, D(A)), D(A) C Coo(RY), extends
p. 100, 1. 12 below u e DA u € D)

p- 102, 1. 1 above Proposition 7.13 h) Proposition 7.13 1)

p. 105, 1. 10 below P*(r, > t) P*(r, > t)

p. 106, 1. 7 below E*ou(Xryan) — u(x) E*ou(Xryan) — u(xo)

p. 110, Problem 5 (—m) AuVn (—m)VuAn

p. 111, Problem 9 exp(tA) == Y72, A7 /5! exp(tA) == 372 (tA)! /5!

p. 111, Problem 11 for Example 7.20 for Example 7.20. Let (un)n>1 C €2 (R) such

that %u’,ﬁ is a Cauchy sequence in C., and that w,,
converges uniformly to u.

p. 111, Problem 10 (a) 4 p,_ T, =P,_ AT, — P,_ BT, 4P T,=—P_ AT, + P,_ BT,
p. 111, Problem 11 (b) || [ 9(z) d= Iy 29(z) dz
p. 111, Problem 11 (b) || u,(x) converges uniformly to [ 2g(z) dt + ¢/ ul, () converges uniformly to [ 2g(z) dz + ¢/
p. 111, Problem 11 (b) || ¢ = [°_ g(2)d= ¢ = [ 2g(z)dz
p. 112, Problem 13 A= (alUq) f(z) L (alU,) f(z)
=n!(=1)"T1(id —alU,) f(x) =n!(=1)""(id —aU,)U" f(x)
p. 113, 1. 13 above L=Y0,0 L=Y" 100
p. 115, 1. 8 below Proposition 7.4 g) Proposition 7.3 g)
p. 116, 1. 5 above X Xn
p. 116, 1. 6 above Xnl[1 /] xBOn) = 1 Xnl[/n, g xB(0n) =1
p. 116, 1. 8 below flz) < If(2)] <
p. 118, 1. 2 above (8.7) satisfying (8.7) with g = g(x) satisfying
p. 118, 1. 5 above 8;’2 eL2
p. 119, 1. 9 below N NY
p. 121,1. 7, 8 above T.f (twice) Tiu  (twice)
p. 123, 1. 3 above ﬁ m
p- 126, 1. 10 above PY(B, € dz) PO(B; € dz), where 7 = 735 .-
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. 136, Problem 4

Pg—g=4 [ Pygds

t
Pg—g=4 [  Pgds—g

PAGE, LINE | READS | SHOULD READ

p. 126, 1. 11 above P%(B, € dz) PY(B, € dz)

p. 126, 1. 14 above Bl152,00) Bsl152,00)

p. 127,1. 2, 3 above + 7 (twice) — [ (wwice)

p. 127, 1. 4 above B(x,d) B(xo,0)

p. 127, 1. 3 below ulop, = u(zg) U|9B (z0,r) = u(T0)

p- 129, 1. 8 above therefore, ming< <y, Ty, < TB (20,¢)° i.e. thus, ming<j<n Ty, < TB (20,6)\ {20} i.e.
p. 129,1. 9 above B (wg,¢) = 0 TB (wo,0)\{zo} > 0

p. 130, Figure 8.4 B(1,0), B(2,cner) B(0,1), B(cper,2)

p- 131, 1. 9 below TB(0,1) The(0,1)

p. 132,1. 15 above t€10,¢ t € (0,¢€

p. 132, 1. 12 below er = (1,0,...,0) € RY es = (0,1,0,...,0) € RY
p. 132, L. 11 below [0, 00)e; [0, 00)en

p- 133, 1. 5 below X, B,

P

P

. 136, Problem 7

multiply it with a smooth cut-off function €2(R%),
ulg,r) =1

multiply it with a smooth cut-off function x €
C2(RY), x|,y =1

p. 136, Prob. 9, 1. 6 be-
low

Example 8.12 d)

Example 8.15 e)

p. 138, 1. 8 below

mean zZero

mean t; —t;_1

p. 139, 1. 7 below

Sg(B(~,w),H)

SE(B(',LU), [Cl, b])

p. 141, 1. 2 above

(B(t;) — B(t;—1))”

B(t;) — B(tj-1)

p. 145, 1. 12 below

Iy C 1o

i1 DI

p- 147,1. 9 above

s<t;<t,<t

s<t;<tpy<t

p. 149, 1. 1-7 below

Using the elementary estimate

n

H1 a; = [Tj=1 b < 225- laj — by
j:

forall aj,b; € C, |a,|,|b;| <1, we find

QE(Xi=Xo) _ =3 € (t=9) ’g‘)

)

<E(

_E(

n .
H elf(th _th_1)
j=1

n
-1I e~ 3 &2t —tj—1)
Jj=1

Using the elementary estimate

laA —bB| < |a—10|-|A|+1b]-|A— B|
where

a=T eiﬁ(xt—th,l)

Fin):

A — pi€(Xe,  —X.)

b=e"3 52“*'5"*1),7

B = e—%fz(tnfl—s),

yields, because of the tower property,
’E(ez’axt—x,s) _ e €(t-s) y) ‘

j|[#)

<TE ‘E eiﬁ(Xt—th_l)

_e*%gz(tftn—l) 34‘

tn—1

<Y E (|6z‘g<xtj—xtj,l> — e €t ‘y) , ]
j=1 4 ’E<ezs(xtn,1—xs) P () g)‘
S s
iE(Xe, — Xy
- £ n(efecn
p. 151, Problem 6 (b) || {|B((k + 1)2") — B(k2™")| > ¢\/n2~"} {1B((+1)27") - B2 )| > V2|
p. 151, Problem 6 (b) Ui, Ak, (twice) 2 Ak (twice)
p- 155, 1. 12 above Cn Ck
p-156,L3bclow | P((B(z) - B)[ < £}’ [, B - B2 < E))
p- 160, 1. 7 below m(e,w) m(d,w)
p. 161, 1. 5 below nowhere not
p. 161, 1. 1 below at no point ¢ € [0, 1) Holder atsome ¢ € [0, 1) not Holder
p. 162, Problem 2 < n maxi<j<n |Z;]| < P maxi<j<n |7,
p. 167,1. 9 above for all for (Lebesgue) almost all
p. 172, Problem 2 (A.14) (A.13)

continues on next page
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READS

SHOULD READ

. 172, Problem 2

to show that

to show that for all z,£ > 0

p

p. 172, Problem 4 =inf{t>0: B =bJ/a+1} =inf {t >0 : |B;| =bva+1t}
p. 178, 1. 2 below 2 [eclBOI] 2E [ elBMI

p- 179, 1. 2 above F(IT,,w) F(w)

p. 179, 1. 7 above w}(t) wo (t)

p. 179, 1. 6 below dw(t) dw(s)

p. 181, 1. 7 above B:(U™'w) U~!'B;(w)

p.- 182, 1. 10 below c>0 r>0

p. 182, 1. 2 below P(d(eB, ®(rg)) > 9) P(d(eB,®(r)) > 6)

p. 188, 1. 7 below =P(yBE€F) <P(yBeF)

p. 189, 1. 9 above L(w) L(w)

p. 189, 1. 11 below c>q! c>q !

p. 189, 1. 2 below (85(n))i>1 (8% (ny ) n>1

p. 189, 1. 1 below (ZSJ-(n)( w))j>1 (ZS}(n) (,w))n>1

p. 191, 1. 1 above q>0 q>1

p. 191, 1. 3 above w(1), w(l) —w(%),

p. 191,1. 5 above Iwy=[...=[...<[...<r<} v=31[...=Lf. . <if .. <r<}i
p- 191, 1. 5 above any ¢ > 1 large qg>1

p. 191, 1. 7 above lim lim

p- 191, 1. 7 above % %

p. 191, 1. 9 above N “f;

p. 191, 1. 15 below |W (tsn)| | B(tsy)]

p. 192, Prob. 4(c), 1. 10 || 7 )

below

p. 195, 1. 11 below BTU,W BTfu,ww

p. 195, 1. 6 below Tow BTf’U,WW

p. 197,1. 7 above variance o variance o2

p- 200, 1. 5 below <s< <s-n<

p- 200, 1. 6 below B"(7,) and B"(7;,, 1) B"(7,/n) and B™(7,, /1)

p. 200, 1. 2 below B"™(r,,) and B (71, ) B"™(1,,/n) and B" (1}, /n)

p. 206, 1. 8 below IewMm? I € M2 with Ip =0

p. 206, 1. 4 below Theorem 14.4 ¢) Lemma 14.2

p. 206, 1. 2 below adding subtracting

p. 207, 1. 4 below j=0,...,n j=0,...,n—1

p- 215, 1. 6 below Theorem 14.9 f) Theorem 14.9 ¢)

p- 221, 1. 11 above predictable progressive

p. 224, 1. 2 above {r; <t} ={A > jT/n} {r; <t} ={A > jT/n}

p- 224, 1. 8 above c<rT c<71t<T

p. 224, 1. 11 above i i

p. 224, 1. 11 below {{eBin{o<(k-1)/min{(k—-1)/m<7} | {£€Bn{o<(k-1)/m}in{(k—-1)/m <7}
p. 225, Problem 8 cf. Theorem A.21 — (f) @ B; cf. Proposition A.22 — (f e B);

p. 226, Problem 12 (Bs, — B, ,) (Bs;at — Bs;_,nt)

p. 228, 1. 5 above fo 1f(s,)Pds >n fo If(s,)?ds >n

p. 228,1. 7 above fo |f(s,)]?ds <n fo |f(s,)]?ds <n

p- 230, 1. 11 above 1,4 (twice) 1g (twice)

p. 234, 1. 8 below .inf {t >0: fot lojk(s,w)|? ds > n} .inf {t >0: fot |Ujk (s,w)|*ds > n}
p. 239, 1. 3 below X = fo s)dBs + fo b (s) ds X = Xo+ fo s)dBs + fo b (s) ds

continues on next page
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READS

SHOULD READ

.242,1.7 above L2 (P)-limy 0 J21 = f(f [ (Xs)o(s)ds L2(P)-limry) 0 J21 = fg f"(Xs)o?(s)ds
. 244, 1. 6 below lim,, 0 lim._,q

. 245,1. 1 above (2¢)~1 et

. 245, 1. 3 above % %

. 245, 1. 8 above

d-dimensional

one-dimensional

. 246, Problem 3

I £(s, By) dB

o 9L (s, B,) dB,

. 276, 1. 3 above

JE((s) + 0(s)X)o(s) X2 ds

((t) + 6 (1) X)0(t) X9 dt

. 284, 1. 13 above

then (¢, z,w) — X7 (w)

P

P

P

P

p

P

p. 247, Problem 7 uZ 4+ v; =1 uZ 4 ul =1

p- 249, 1. 3 above a martingale a local martingale

p. 250, 1. 2 below M™ = exp(X;™) M™ = exp(X™)
p.254,(17.8) 1. 9 below || P(F) + P(F) —

p. 259, 1. 1 below Mp=EMr+... M=EM+...

p. 262, 1. 2 below s<T t<T

p. 264, 1. 3 above a(t(s)) =s a(7(s)) = sforall s € a(]0,00))
p. 265, 1. 2 above sup{u > s... sup{u > s...

p. 267, 1. 10 below pJy | X |Ptd X p [ sen(X,)| X,[P 1 dX,
p. 269, 1. 11 below =P(-) <P(---)

p. 269, 1. 1 below oc>T oc>T

p.270,(17.18) L. 9 above || [ f(s) dB, ¥ f(s) dB,

p. 271, Problem 10 f € BV[0, ) f :]0,00) — R be absolutely continuous
p. 271, Problem 11 (17.17) (17.18)

P

p

then (s, z,w) — XZ(w), (s,x) € [0,t] x R™is for
everyt > 0

. 284, 1. 3 below

o(sj, X5 (s5))

o(sj—1, X5 (s85-1))

. 350, 1. 11 above

linear maps

continuous linear maps

. 351, 1. 11 above

Mt _ (Aft
M= (Mtj,ftj/\t)tj_l,tjen

It _ A/t o
M™r = (Mtj7</tj/\t)tjen

. 351, 1. 9 below

2kt

p

p. 287, 1. 6 above inf{t >0 : |X] —¢ > R}AT inf{t >0 : |X/|>R}AT
p- 287, 1. 1 below forall x,y € R" forallz € R™

p. 288, 1. 2 below Theorem 18.9 Theorem 18.11

p- 288, 1. 1 below E[|xr(©)¢7] E[(1 + [x& (€))7

p- 290, 1. 5 above (| + [y[?) (A +1]z)*+ (14 |y)h?)

p- 290, 1. 6 above || (1+ |z)?

p. 292, 1. 4 above r € R4 r € R"

p- 296, Problem 4 (e) Uy := e PtB(e2Pt — 1) U = = e PtB(e2Pt — 1)
p. 301, 1. 7 below T4 T

p. 303, 1. 4 below o 0;0;

p. 311, 1. 10 below Lf(X,) Lu(X,)

p. 329, 1. 7 above Z =n;(B) Z =7;4(B)

p- 333, 1. 11 below from F from R

p- 338, 1. 9 below t <ty t<t

p. 342, 1. 12 below inf;7; <t+1 inf;7; <t+1

p- 345, 1. 5 below which proves (A.17) which proves (A.16)

p- 347,1. 9 above a submartingale a submartingale with continuous paths
p. 349, 1. 6 below Fn{o;=k/2} € Fyyi Fn{o;=k/2} € Py
p. 349, 1. 4 below E*[E(---)] E*[E*(-- )]

p. 350, 1. 2 above o Sy

p

p

p

2=
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p- 351, 1. 1 below M2 — M} M2 — M

p- 352, 1. 3 above Mas;_, Mine;_,

p. 352, 1. 8 above 2N¥’t —2N¥’It

p- 352, 1. 6 below |TT| A |TT| hpvang

p. 353, 1. 6 below t €10,t] te€ 0,7

p. 356, 1. 4 above q €10, T — ¢ te[0,T —q|

p. 356, 1. 7 above (M7), = (M), (M) iprgq = (M),
p- 356, 1. 6 below SI(f3t) SI(f;[a, b))

p. 360, 1. 3 above VAR (f;[a,b]) VAR (s [a, b))
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